s e Sloweir Shadow

This falling hat s very easy to- knit, the employee
yarn gves Ut Uy origunality.

Moterial :

1 ball of Shadow Schudana. Circwdor needles
Smm, withv a cabple of 60cm.

1 stitthv mavker, tapestry or sew needle 1
measiring tape, 1 poir of selssory
Pointy and abbreviations :
st stuted
ko : kit
K2tog: kit 2 sttogetiver
md : make 1 ( see tihere)
j pr prrl
*.X L kndtting pattern indicated between * and * asy many times agy necessary to- flnisihe e rovino
Ribs 1/1 : always kinit this rownd. ¥k, p1* to- He desined. hheight
Work:

Cost on 80 st flexibly or long cast todl (e tihere). Form a circle, put the stitehe marker to- see He
stourt of the round and staurt kinitting v ri 1/1 to- Sew higlh

Then nerease as follows : Knit 2 rownds, and thew :
1 rownd *k8, mi1*, Then knit 3 rownds (905t

1 rownd: *amd, ma*, Then knit 3 rownds. (10054

1 rownds *10Omol, m1*, Then kinit 3 rownds. (110s1)

Then knit every rownd wp to- o total height of the cap 16 to- 17.5cm (depending on the desived
size) and, stawt to- decreases.

rownd: *kg, K2tog*, then kit 1 rovnol.
rownd: *7, K2tog*, Hhen knit 1 rownd.
rownd: *k6, K2tog*, thew kit 1 rovunol.
rouwnd: *k5, K2tog®, then knit 1 rownd.
rownd: *k4, K2tog*, thew kit 1 rovnol.
rownd: *kB, K2tog*, Hhen knit 1 rownd.
rownd: *k2, K2tog*, thew kit 1 rovnol.
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round : ¥k, K2tog*, Hen cut the wive at 30 cm, put U ow the yarn needle. Pull thwead
Huwroughh remaining sts, tighten the wire board Un sts, tHighten again: Fasten thuread Un the cap, and
ct U Retfract Hie begunmning of cap wire unfo- the st and cunt:
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